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Question 1.Select the related word/letters/numbers from the given alternatives:

& 72 faewedt 7 @ Hafeerd eree)sarl/aear & gfav
Peacock : India :: Bear : ?

HIT : R :: el 2 ?
Options:

1) Australia
Jireeferm

2) America

3ARET

3) England

gIoivg

4) Russia

E3)

Correct Answer: Russia
E3)

Candidate Answer: [ NOT ANSWERED ]

Question 2.Select the related word/letters/numbers from the given alternatives:

3 T fashodl / & Helfeeret Yec) 37&RY/HEdr 1 giav|

BDCE : FHGI : : RTSU : ?

Options:
1) VYWX

2) XYvw
3) VWXY

4) VXWY
Correct Answer: VXWY
Candidate Answer: VXWY

Question 3.Select the related word/letters/numbers from the given alternatives:

2 13 faeodl & @ Hafeere ereey starl/dear # gfav|
6:5::8:7?

Options:

1)2

2)4

3)6

4) 10
Correct Answer: 6
Candidate Answer: 6

Question 4.

For the following questions

Find the odd words / letters / numbers from the given alternatives .

Tew 10 fashedt & & fawa Qsey 3eR/HEaT g |
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Options:
1) Moon
Bt

2) Mars
FHarel

3) Venus
™

4) Jupiter
EREIG]

!
Correct Answer: Moon
TegHl

Candidate Answer: Moon
TegHl

Question 5.

For the following questions

Find the odd words / letters / numbers from the given alternatives .

Tew 10 fashedt & & fawa Qrsey 376R/HEAT gAY |

Options:
1) ACEG

2) IKMO
3) FHIL

4) TUWY
Correct Answer: TUWY
Candidate Answer: TUWY

Question 6.

For the following questions

Find the odd words / letters / numbers from the given alternatives .

Tow 910 fahedt & & Tawa Qlecy 316R/EEaT g |

Options:
1)6

2) 24
3) 64

4) 120
Correct Answer: 64
Candidate Answer: 64

Question 7.Arrange the following words according to the dictionary order

FATf@d sl i ereaerr & FA A faf@u|

a) Approach b) Appropriate ¢) Approval d) Approve
Options:

1) acdb

2) abdc

3) cdab

4) abcd
Correct Answer: abcd
Candidate Answer: abcd

Question 8.A series is given , with one term missing . Choose the correct alternative from the given ones that will complete the series .
foT I 31eTshar # Teh e ofvdl B f&T 9T faehod] & & a5 HEY fashod GieTu S Si@rel 1 O FATE |

ajs, gpy, ?, sbk, yhq



Options:
1) dmv

2) mve
3) oua

4) qzi
Correct Answer: mve
Candidate Answer: mve

Question 9.A series is given , with one term missing . Choose the correct alternative from the given ones that will complete the series .
U T 377h A H U Y o 1 U 10 fashodd! & & @ T faeheq YAV S @l & @ a1 |

5,9,6,11,7,?
Options:
1) 13

2) 15
3)17

4) 19
Correct Answer: 13
Candidate Answer: 13

Question 10.Anand is son of Prema . Rajeev is brother of Prema . Neha is daughter of Rashmi . Neha is sister of Rajeev . How is Anand related to Rashmi ?

3Tefee, WY T G §| Tola, ST 7 3718 §1 21T, TR A1 T &1 71T Tolia i a5l &1 3HTeteg T I & Fraets I ?
Options:

1) Son

™

2) Grand Son

LIE}

3) Grand father

arer

4) Grand daughter

CIE)

Correct Answer: Grand Son

CIE)

Candidate Answer: Grand Son

LIES

Question 11.Nikhil is 8 yr younger than his brother Rohan . How old will Rohan be when he is twice as old as Nikhil ?

TR 319eT &S gt A 8 a9 Bler 8| gl ol Fohelel I T 19N 19 &g A Tol & GI[eAT 38 T g1am ?
Options:

1)4yr

49§

2)6yr

6ay

3)8yr

8ay

4) 16 yr

16 ¥

Correct Answer: 16 yr
16 ¥

Candidate Answer: 16 yr
16 ¥

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word :
AT fashedi & & a5 ec AT i TeT 1T ec; 3 IT&RT T GIWT ek AET TATAT ST Fehell

ORGANISATION

Options:
1) GRANT

2) NATION
3) GIANTS

4) ORANGE
Correct Answer: ORANGE



Candidate Answer: ORANGE

Question 13.If EARTHQUAKE is coded as EKAUQHTRAE then ELECTORATE will be coded as ?

Jfe EARTHQUAKE s EKAUQHTRAE & &9 3 forar STTaT § @Y ELECTORATE &Y f3hg R foraT s ?

Options:
1) ETAROELECT

2) EARTOTCELE
3) ETAROTCELE

4) ETAROCTELE
Correct Answer: ETAROTCELE
Candidate Answer: ETAROTCELE

Question 14.If a denotes x , b denotes +, ¢ denotes + and d denotes - , then8a3c24b12d19="?

I a FTIMT X T, b FTIMT + AR, H AT + T IR dF 3T -Ag A, 8a3¢c24b12d19="?

Options:
1) 17

2)7
3) 14

4)8
Correct Answer: 7
Candidate Answer: 7

Question 15.Given equations are solved on the basis of a certain system. Find the correct answer for the unsolved equation on that basis :
2+ 4+ 6=48and

3+2+8=48,

then2+5+7=7?

TAFATATT FHIeRToT Teh TR JOTTelr & SR R §of fohT a137 | 38 TR I 3fefect Rel WHIRIOT Sl FEN 3ol MMl HITIC|

IR2+ 4+ 6 =483k
3+2+8=48,
AN2+5+7=2?

Options:
1) 48

2) 70
3) 14

4) 59
Correct Answer: 70
Candidate Answer: 70

Question 16.Select the missing number from the given alternatives

Rw 1w fashedt & & o dear gfav ?

28 | 20 | 7
84 | 35 | 12
45 | ? 9

Options:
1) 19

2)22
3) 26

4) 25
Correct Answer: 25
Candidate Answer: 25



Question 17.If North is called North west , West is called South west , South is called South east and so on . A person walks straight from South west to North east
and then turns left . Walks straight and again turns left . Now at what direction he is facing ?

I 3ce T Sca-UTRGH Fgl AT, GG i SE0T-af¥es gr v, afaior 1 afaior-qd gl v 3N sca1fe | U i afator-ufRes & € Scai-qd &1 3 S0 3T
TR o 73, O @Y e KX QaRT S 733, A 3 o o Y 3R ST TET § 2
Options:

1) South

gfaror

2) North east

Sea-qd

3) North

3

4) South west

gfaoT-aftas

Correct Answer: South west

gauT-afRas

Candidate Answer: South west

eTEo-ufas

Question 18.In the following question, one or two statement(s) is/are given followed by two conclusions/assumptions, I and II. You have to consider the statement to
be true, even if it seems to be at variance from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from
the given statement. Indicate your answer.

Statement: Some kings are queens. All queens are beautiful .

Conclusions:I- All kings are beautiful.

Conclusions:II- All queens are kings

fFfafRa ues &, Ts a1 U A 310 gerdey U 1w § S 3 & fse/Aegany, 1 317 11 Seaf@d &1 3Tl AT § fF aoded acg 1 § 918 98 T#=gd: ad
et & eat Tt e 811 3Tl o T & o 3T 10 gercied & @ - e/ Aeaai Mg &7 & 8 & 319 3cak & [fése fifaw)
YA : 1- Fo TN AT § | Tl qfrail gex €1

s I-wehr T gex £

sy 11- @efr afaat e &

Options:

1) Only conclusion I follows

ol sy I T ¥

2) Only conclusion II follows

el shy 11 TEY &1

3) Either conclusion I or II follows

a7 sy [ @gr g ar i1

4) Neither conclusion I nor conclusion II follows

oy [ T8 & 3R o sy 11

Correct Answer: Neither conclusion I nor conclusion II follows

o fasehy [ T8 § 3R 7 Ay 11

Candidate Answer: Neither conclusion I nor conclusion II follows

o fasehy [ T8 § 3R 7 oy 11



Question 19.Find the number of triangles in the figure

3mehfar 7 Prepioll Hr dear adare ?
Options:

1) 12

2) 10

3) 18

4) 16
Correct Answer: 18
Candidate Answer: 16

Question 20.Identify the diagram that best represents the relationship among classes given below: Elephants , Lions and Animals

TE I AT St A1 & a1w 9t & e Y T i & gred, v 3y wyy

Options:
1)
/". l““«\

/ :.f'f\..\\ ‘H\"‘-\_\_
b .
2)

I

o™

/ ’,/\__ \'-‘_ /\\
3)

.'/l‘ h

A A

_/ .';_\- _\\ "\k

4)
FATY 4 R i
Correct f\nswer:

I

./',\ AT
e I N g

Candidate Answer:
s
o ~.

e o
_/’ E;\ '_Jl‘\ “"\h



Question 21.Which answer figure will complete the pattern in the question figure?

FleT-T ST ITPicd T TP  Gead T HM ?

~

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:




Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 1 Seal Tt # A 38 3rpfa H IfAw forast gea st Sifga 21

S)

Options:
1)

2)

3)

4)

Sl =

Correct Answer:

>




Candidate Answer:

Question 23.A piece of paper is folded and cut as shown in the question figures. From the given answer figures, indicate how it will appear when opened.

e JTHTIAT 3 fe@TT HTHR HTITST T HFH FIee TUT Tielet F TG Ig 73 Sea 3P ST WS Zam ?

Options:
1)




Candidate Answer:

Question 24.If a mirror is pIaced on the line MN, then which of the answer figures is the right image of the given figure?

¥

B

X

I T 90T T MN @7 OR T SR &t & 918 Sk ATehferat & & -2 smepfar wear amepfar a1 wer v gt 2

Options:
1)

d )l

2)

KB
a K

Correct Answer:




Candidate Answer:

K 8

Question 25.The sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g.,A can be represented by 12,24, etc., and 'R’ can
be represented by 57, 76, etc. Similarly you have to identify the set for the word 'ROSE'

T UG el Uoh HEAT-HHG SR &1 30T &, S o faremedt 31 & fondly vep o foam ara &) Ryepedt 3 3w 970 wean woqg 316 & & avlf gy grife 91w §, oI fo oy few
31T &Y YR H §1 3TYE 1 FisT R derelt BT Heam 0 A 4 37 31Megg 11 5 & 9 &Y 915 §| 57 YT A Ueh 3BT T Tgel IHRT Tercll 3R 1, & T w97 HET Zarr exfrar
ST Gehell & | 36T & fow A" &Y 12, 24 37T gaRT gRfFIT ST Fehell & 2T 'R ' 1 57,76 31fe g@RT &= ST &ehell 1 S8 e A 3Taeht faT gu ere 'ROSE' & forw wagg ot
UG & |

MATSIK— I. _ MATRIX - I
0 1 2 3 4 5 6 7 8 E]
Q A E 5 T H 5 P 0O R K L
1|7 H A E 5 & K L| P o] R
2 |E s T | H A 7 o] R| K L P
3 |H | A 2 3 L 8 L | P | 0 | R K
4 5 - 35 H A E 9 R i3 L I P l o]

Options:
1) 86, 67, 33, 44

2) 88, 76, 31, 32
3) 95, 75, 02, 32

4)57,87,32,33
Correct Answer: 95, 75, 02, 32
Candidate Answer: 95, 75, 02, 32

Question 26.Inflation is a situation characterised by

- TR 3 Pl # & Pa-a Rl g ?
Options:

1) Too much money chasing too few goods

FH g W A Hor =

2) Too few money chasing too much goods

31cafts awq g 3red qor =0T

3) Too many people chasing too few goods

e ST IR 3HeT AE H a&]

4) Too many people chasing too little money

3caTerR Sfef 3R 3o A & 7ol

Correct Answer: Too much money chasing too few goods
A g W 3 T a1

Candidate Answer: Too few money chasing too much goods

Question 27.Which of the following was published by Gandhji during his stay in South Africa?

e it ST GfaToT 3nheT 3 J, Y 3oTeh GaRT AFATaTld # & 3T YR foRaT Iram a1 ?
Options:

1) Young India

a1 05T

2) Indian Opinion

gf39er 3difaaa

3) Nav Jivan

9 SiasT

4) None of these

EEE NI

Correct Answer: Indian Opinion
HERpKIRIGEG]



Candidate Answer: Young India

a1 30T
Question 28.What was the immediate aim of the Treaty of Purander in 1665?

a¥ 1665 3 YXex T HIE T Te&T 3297 47 AT 2

Options:

1) To gain goodwill of Shivaji

Rrarst & -9 F=ITT TWAT

2) To sow seeds of contention between Shivaji and Sultan of Bijapur
RIarsit iR ISR & Gefeller o st faare o det sl

3) To deceive Shivaji

RIarsi s er@r a1

4) To make Shivaji a puppet of Mughals

RIGTS T FTe & g1 T Hegdel Follell

Correct Answer: To sow seeds of contention between Shivaji and Sultan of Bijapur
Riarsh 3R SeTgY & Gerclet & sirer faare; & et aller

Candidate Answer: [ NOT ANSWERED ]

Question 29.Match the following:
A. Mohenjodaro 1. Statue of a priest

B. Harappa 2. Port
C. Kalibangan 3. Plough marks
D. Lothal 4. The Great Bath
Ffaf@a & Ad AGT|
ATRRTEIGRT 1. Weg 3w W
B. gSWI 2. 9<4

C. PIeNET 3.ga b g
D. TYTA 4. qc 1Y

Options:
1) A-4, B-1, C-3, D-2

2) A-3, B-2, C-4, D-1
3) A-2, B-3, C-1, D-4

4) A-1, B-4, C-2, D-3
Correct Answer: A-4, B-1, C-3, D-2
Candidate Answer: [ NOT ANSWERED ]

Question 30.Blood is red in colour due to the presence of

TFd T 3T [AeATa@d 7 & frgdT 39RRufa & HRoT AT 8T & ?

Options:
1) Cytochrome

TTSTIhIF

2) Chlorophyll
FARI el

3) Hemocyanin

SAERIET
4) Haemoglobin

QECCIET]
Correct Answer: Haemoglobin
REIECIET)

Candidate Answer: Haemoglobin

S

Question 31.Which one of the following events in a botanical garden is never directly influenced by light?

Wamﬁmﬁ,ﬁmﬁ@aﬁﬁﬁmwmrmmqmﬁﬁmaﬁm?



Options:

1) Flowering

et foreeret 1 o
2) Photosynthesis
YRIRT HLATOT

3) Transpiration
TSNt

4) Fertilization
GheC

Correct Answer: Fertilization
GhEC

Candidate Answer: [ NOT ANSWERED ]

Question 32.What type of lens is used to correct vision of a person suffering from Myopia?

Ao gfSe Ay & Nf3a safFa Hr gfSe Ga wtar & fav v R & d=a &7 s fomam S g 2
Options:

1) Convex lens

3cdd ol

2) Concave lens

Jadd oed

3) Crossed lens

3e9aH [aud ded

4) Cylindrical lens

rafeifgee ofed

Correct Answer: Concave lens
Jadd ol

Candidate Answer: Convex lens
3cdd ol

Question 33.Iodex, a pain relief balm, has the smell of

2 IR mgA, Imaseq 7 o fhaehr aier amch § 2
Options:

1) Methyl salicylate

g afaffee

2) Ethyl salicylate

S Afaiee

3) Propyl salicylate

TTSer AT

4) Butyl salicylate

e faffee

Correct Answer: Methyl salicylate
Az afaffee

Candidate Answer: [ NOT ANSWERED ]

Question 34.Which of the following is usually not an air-pollutant?

RrAfaf@d & @ HlT-a1 A 91g Yoo 81 & ?

Options:
1) Hydrocarbons

ISgIehTelaT

2) Sulphur dioxide

T SB3TFAEE

3) Carbon dioxide

FIeT SEIHTFARS

4) Nitrous oxide

ABed JTFaEs

Correct Answer: Nitrous oxide

ASed 3iFass

Candidate Answer: [ NOT ANSWERED ]

Question 35.Which of the following is called the Land of White Elephants?

frrfaf@d 7 ¥ fRe athe it &l o=l Fgd & ?



Options:
1) Thailand
USols

2) Africa
3rhreRT

3) Cuba
T

4) Turkey
hf

Correct Answer: Thailand
DIELCC

Candidate Answer: Thailand

USols

Question 36.0n April 10 2016, a huge fire broke out during fireworks display at one of the following temples of Kerala .

10 378l 2016 T el & Teh AT & 3TAA-aTel & ERIeT SWUT 31T ofeT 315 Y| 98 Afee PieT-ar o7 ?
Options:

1) Chhotanikkara temple

BICTHTFRRT Aleel

2) Puttingal temple

gfgarel AfeeT

3) Vishnuvira temple

Tasud Afeex

4) Manarasala temple

Aol Afet

Correct Answer: Puttingal temple
gfEarel Afrex

Candidate Answer: Puttingal temple

Question 37.Which of the following games was included in Rio Olympics after more than 100 years?

afaf@a # o Fa g = Rar 3 & 100 e A AT I87T F §i6 nfAe fhar Irm?
Options:

1) Diving

ST

2) Taekwondo

GIEEGIE]

3) Beach Volleyball

Sra-aielarer

4) Golf

Eliree

Correct Answer: Golf

Mo
Candidate Answer: Golf

)

Elires s

Question 38.0ne of the following is 'Labour" in Economics.

AfRf@a & & e 3l & '9fAe Fgarar g, ag HT T ?
Options:

1) A Musician performing for a benefit fund

1S FaftersT it ot glarenr-fafer & fw swriper 3 s1mr & @T @Y
2) A Painter working for his own pleasure

5 FAFHR S 319 37Tig & fow F1 X @Wre

3) Reading a book as a hobby

elieh & N IR TR Tgt arell

4) A Mother teaching her own son

HYS G TG Al A

Correct Answer: A Musician performing for a benefit fund
1S Falic=T it Rl gfaer-fafy & forw Frisher 7 #1mer o W8y
Candidate Answer: A Musician performing for a benefit fund
FE Talerer ot ey GRIET-ARY & e et & o A <@ @Y

Question 39.Which of the following is a fish?

rfaf@d aeeal 7 @ #la @ Foen § 2



Options:
1) Jelly fish
Stelr fher

2) Lobster
deEX

3) Salmon
retd e

4) Whale
B
Correct Answer: Salmon
HTeTHeT

Candidate Answer: Whale

@

Question 40.The disconnected lines drawn on a map for showing slope -

TR ST IR el T eeT 3 foT Wit 918 3raeig @Y 7 el & ?
Options:

1) Bench marks

GEADE

2) Contours

HART @1

3) Form lines

EEERC Tl

4) Hachure

=T

Correct Answer: Hachure

=

2

Candidate Answer: [ NOT ANSWERED ]

Question 41.A man standing close to the platform at a railway station experiences a pulling force towards a fast moving train because of

I TEUeT o COICHIH T TSI ST it & T g% & oY 3R Wi AT oFit g et & 2
Options:

1) gravitational force between train and man

31 3R cafFd & e JearHT For

2) illusion of the man

AT T HH

3) the centripetal force

FTHeheg ol

4) pressure difference due to fast moving air in between

3eTeh oI ol & AR a1 & HROT A H R

Correct Answer: pressure difference due to fast moving air in between
o7 dre AT & AFIAT ATy & FROT S IR

Candidate Answer: pressure difference due to fast moving air in between
3eTeh i ol & AT a1 & HROT A A AR

Question 42.The Network is overloaded with enormous data sent by many computers within the network. The inability of the network to deliver the data is termed as

ﬁma;ﬁawgﬁﬁr*wgﬁaﬁmﬁamwﬁmﬁmammﬁmmmwmmaﬁ?w, SAFATHEA & ?
Options:

1) Access control

T Ferglel

2) Congestion

FrorueT

3) Error propagation

TR SR

4) Deadlock

Eeic

Correct Answer: Congestion

FrolUeT

Candidate Answer: Congestion
Frorelel

Question 43.Who is referred to as 'Frontier Gandhi'?

‘AT ey R e ST g ?



Options:

1) Sheikh Abdullah

A srege

2) Manilal Gandhi

FHTeITe e

3) Khan Abdul Gaffar Khan

el 3-!@}!‘ ITFHPR Gle

4) Gopal Krishna Gokhale

NYTeT U7 el

Correct Answer: Khan Abdul Gaffar Khan
el 3-1@' ITFPR el

Candidate Answer: Khan Abdul Gaffar Khan
el 3-]%?-{ ITFPR WleT

Question 44.Which of the following fuels causes minimum environmental pollution?

AT 7 & FloT U 2T T TG T TATE0T TGHOT 81T § ?
Options:

1) Diesel

EEC]

2) Kerosene

HET

3) Hydrogen

RESEC)

4) Coal

FRIeT

Correct Answer: Hydrogen
REESTE

Candidate Answer: [ NOT ANSWERED ]

Question 45.'Sun Temple’ is situated in the state of

T AR FheT-3 T F R ¥ 2
Options:

1) Rajasthan

o)

2) Andhra Pradesh

38T TSR

3) Odisha

33

4) Tamil Nadu

afHer A1y

Correct Answer: Odisha
33

Candidate Answer: Odisha
EEI

Question 46.Vinegar is

R g ?

Options:

1) diluted acetic acid

ae ufafs vfis

2) glacial acetic acid

Tofsrer vhafes s

3) glacial formic acid

TR HIfFw vl

4) diluted formic acid

as wiffis ofls

Correct Answer: diluted acetic acid
ae vfafes vfis

Candidate Answer: diluted acetic acid
ae vfafes vfes

Question 47.0pen Market Operations refer to

Gell SR HIAETET & 1 ared § ?



Options:

1) Borrowings by Scheduled banks from RBI

TG dohT @Rt sk Ratd S @ 3uR e

2) Lending by Commercial banks to industry

IOST St SaRT 3T Y IUR ST

3) Purchase and sale of Government securities by RBI

ARl Rord o eaRT aXery gicrsiforat i alie 3T fashr

4) Deposit mobilisation

foraTT ergor

Correct Answer: Purchase and sale of Government securities by RBI
R Netd o Rt axenr wfasifaat & adig 3 foshr

Candidate Answer: Purchase and sale of Government securities by RBI
AR Notd do Rt et wiasifaat & @l v foshr

Question 48.International 'Yoga Divas' is celebrated every year on

IEARTSERT AT e wia v hd et AT ST & ?
Options:

1) 21st May

217

2) 21st June

21 T

3) 25th May

2575

4) 25th June

25 S5

Correct Answer: 21st June

21 5

Candidate Answer: 21st June

2157
Question 49.Which of the following Article of Indian Constitution deals with the Right to Equality before Law?

HRATT AT 7 el 1 @ Fie-ar 3e]ete AT & THeT FACT & TSR T Fred § ?
Options:

1) Article - 13

3e]oa-13

2) Article - 14

He[eoa-14

3) Article - 15

HeTeoe-15

4) Article - 17

Hefede-17

Correct Answer: Article - 14

Hefeoe-14

Candidate Answer: [ NOT ANSWERED ]

Question 50.A group of inter-connected islands is known as

g H 3_1;5‘ AT THG T T el & ?
Options:

1) Strait

STelSHE AL

2) Peninsula

ElorCic

3) Archipelago

4) Lagoon
LT

Correct Answer: Archipelago

3R

Candidate Answer: Peninsula

IRIeaT

Question 51.Koushik can do a piece of work in X days and Krishnu can do the same work in Y days. If they work together, then they can do the work in

RN Tl 1 ot X ot & X FehelT & 3R Tohere] 3T 1t ol Y 18T 3 o FeheT €1 T Sletl TeeRT il Y Y o 38 hie T fohelel ot & ahi@ehsl ?



Options:

1) (X+Y) days
2)

1/{X+Y) days

3)
XY/ (X4+Y) days

4)
(X+Y) /XY days
Correct Answer:
XY/ (X+Y) days

Candidate Answer:
XY /(X4+Y) days

Question 52.A hollow hemispherical bowl is made of silver with its outer radius 8 cm and inner radius 4 cm respectively. The bowl is melted to form a solid right
circular cone of radius 8 cm. The height of the cone formed is

Tk WRIS 3TN FHeRT fHeat i 5a11 & forgehr argdl Bream 8 A.ah. 31X 3ale Brear 4 sl ) ek &1 8 A8 B arell v 31 FHATI Qi Fa1 & faw
mm%laﬁg@%@@rmmaﬁ?
Options:

1)7cm

7 a.A.

2)9cm

9|

3)12cm

12 9.9

4) 14 cm

14 9.5

Correct Answer: 14 cm

14 9.4
Candidate Answer: [ NOT ANSWERED ]

Question 53.While selling a shirt, a shopkeeper gives a discount of 7%. If he gives discount of 9% he earns Rs. 15 less on profit. The market price of the shirt is :-

T FHIST S TR GHERER 7% T BT AT 8| A T6 9% FT TE &aT 8, AT 3RS, 15 o &l AATHI §| FiIet & AR o hete1 § 2

Options:
1) 712

2) 787
3) 750

4) 697
Correct Answer: 750
Candidate Answer: [ NOT ANSWERED ]

Question 54.The railway fares of air conditioned sleeper and ordinary sleeper class are in the ratio 4:1. The number of passengers travelled by air conditioned
sleeper and ordinary sleeper classes were in the ratio 3:25. If the total collection was Rs. 37,000, how much did air conditioner sleeper passengers pay?

aTclegehfered et AT 3R AT IrTeT AUT 7 Tera fohram 4:1 & 3e]dTed H §| ATcledehioled ATl R HIUROT AT AT GRT ITA et aTel I Y TEAT 3:25 o IHefared
F o) FfE For TR e Rs. 37,000§w,aamﬁ§ﬁﬁ%mmtmﬁﬁﬁﬁmﬁmww%m?

Options:
1) Rs. 15,000

2) Rs. 10,000
3) Rs. 12,000

4) Rs. 16,000
Correct Answer: Rs. 12,000
Candidate Answer: Rs. 12,000

Question 55.If the cost price of 20 books is the same as selling price of 25 books, then the loss percentage is

FfE; 20 YEARI T AT He 25 TcIohi o [dsha Hedl o ST g, Al gifel 1 FT0el Fohelalr g ?



Options:
1) 20

2) 25
3)22

4) 24
Correct Answer: 20
Candidate Answer: 20

Question 56.The number of students in a class is increased by 20% and the number now becomes 66. Initially the number was

T HET H SHET I T&AT 20% TG 66 8T ST &, dr TRIES T&IT fohcdeir 2T ?

Options:
1) 45

2) 50
3)55

4) 60
Correct Answer: 55
Candidate Answer: 55

Question 57.Two trains start from a certain place on two parallel tracks in the same direction. The speed of the trains are 45 Km/hr and 40 Km/hr respectively. The
distance between the two trains after 45 minutes will be

2 ot TondiT TATeT & & HAIA Sohi O ATeT TR 3 <IoTell §1 il & a1fey sharer: 45 fob.al. /eier 31T 40 foh.#l. /eier & @Y 45 AT a1 &t ¢t o el & gl fercatt giam ?
Options:

1) 2.5 km

2.5 &R,

2) 2.75 km

2.75 ..

3) 3.7 km

3.7 R

4) 3.75 km

3.75 fam.am.

Correct Answer: 3.75 km
3.75 foh.a.

Candidate Answer: 3.75 km
3.75 ..

Question 58.

1
Ifx+5 -‘t-m = 6,then the value of (x + 1)3 + mis

1 - - 3 1
-Zliax+5+x+1_6 gl ar(x+ 1) —1-(“1}!

FT A/ TT0

Options:
1)2

2)0
3)-2

4) 4
Correct Answer: 2
Candidate Answer: 2

Question 59.

1
Ifa?+ 1 = 9a,(a + 0) thenthe value of (a)? + Wis
a

afEa’+ 1=9a,(a= 0)FT, a7 (a)2+(:},ﬂﬂ'l?§_¢rl'li'l




Options:
1) 81

2) 18
3)79

4) 83
Correct Answer: 79
Candidate Answer: [ NOT ANSWERED ]

Question 60.The vertical angle A of an isosceles triangle AABC is three times the angle B of it. The measure of the angle A is

Tl TATEHST A ABC T &I ShI0T A 38 10T B & ieT 0T & &Y I0T A S AT T g1 ?

Options:
1) 90°

2) 108°
3) 100°

4) 36°
Correct Answer: 108°
Candidate Answer: 108°

Question 61.Two circles touch each other internally. The radius of the larger circle is 6 cm and the distance between the centre is 2 cm, then the radius (in cms) of
the other circle is

& et e gAY Y 31aT Y I T F ¥ T3 Jeew B P 6 A, ¥, 3 vl 5 T g 2 A, ¥, A G geer S P (.30, ) Recre @ 2

Options:
1)8

2)2
3)4

4)3

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]
Question 62.

- =
ify=25ecBand x=3tanb ‘tk’ntm'r—9 - f; is

gfg y=25SecHand x=3tand giar = _»
DI HF Fdlzg ? =4

Options:
1)0

2)-1
3)2

4)1
Correct Answer: -1
Candidate Answer: 1

Question 63.When n is divided by 4, the remainder is 3. The remainder when 2n is divided by 4 is:

N 4 T HET ST O 3 AT {AT &1 2n ST 4 T $ET o7 TR FIT AV ?

Options:
1)1

2)2
3)3

4)6
Correct Answer: 2
Candidate Answer: 3



Question 64.Eight members of a club donate Rs. 100 each towards a Relief Fund and the President of the club donates Rs. 50 more than the average donation of all
(including President) of them. Then the contribution of the president is

TRl T & 31T T Tgd HIY & Rs. 100 Ui AFT &1 & &, 31T el T 316787 39 o A, (TSe 31e78T 7 &1 2NfAA & ) Rs. 50 318k &l T &, a 3re7eT &l
3eE R & ?

Options:

1) 106.25

2) 156.25

3) 56.25

4) 206.25
Correct Answer: 106.25
Candidate Answer: 156.25

Question 65.
1.1 1 71

Ha+b+c=15and — —+—=— ,then the value of a° + b® + ¢ — 3abcis
a b ¢ abc .

1.1
IZa+b+c=153F E+E+

Options:
1) 160

1
E=%,Fﬂ'ag+b3+c3—3abcmmﬁa 7

2) 180
3) 200

4) 220
Correct Answer: 180
Candidate Answer: [ NOT ANSWERED ]

Question 66.

If kis the largest possible real number such that p*+q®=(p*+tkpg+q®)(p*kpg+g?®) ,
then the value of k is

fe k Gad 98 g7 aredias vEr gEar € & pt + gt = (p2 + kpg + g2)(p? - kpq + q2) & AT k ST Hie T glem ?

Options:
1)1

—2

3)2

4)
V2

Correct Answer:
V2

Candidate Answer: [ NOT ANSWERED ]

Question 67.AABC is similar to ADEF. If the ratio of similar sides is K:1, the ratio of their areas is

AABC, ADEF & SRS § | Ffe @It ${STI3HT T 31eTaret K:1 8, il Seeh &Tathell oh 3Hefacl T glam ?

Options:
1)
e |

2) 2k:1

4)
2k%1



Correct Answer:

k1

Candidate Answer:

k1

Question 68.
AABC inscribed in a circle so that BCis diameter. The tangent at a
point C intersects BA when produced at a point D.
If #ABC = 36° then the value of £ZADC s

UFgcd § AABC 3H TFR &1 § fhpc=arg §1 FU9 @7 f&6g ¢ BAF a4
@Iedl § o 39 fdg o o &= ov) afe £ABC = 36° @ LADC &I & &4 §7?

Options:
1) 36°

2) 44°
3) 48°

4) 54°
Correct Answer: 54°
Candidate Answer: 36°

Question 69.If the length of the shadow of a vertical pole be V3 times the height of the pole, the angle of elevation of the sun is:-

i et SEaTer @t &1 SR T T Se1S | V3 0T &1 Al G T SeeteT 10T Afhery 23t 7 g1t 2

Options:
1) 60°

2) 45°
3) 30°

4) 90°
Correct Answer: 30°
Candidate Answer: 30°

Question 70.If the simple interest on a sum of money for 2 years at 5% per annum is Rs. 50, the compound interest on the same at the same rate and for the same
time is:-

e, TR TR IX 5% a1 hr ax & 2 9§ T FYROT sATST Rs. 50 &, AT 39 TR X 30 &X A 31 &1 THT T Tehatg AT =T g19TT ?

Options:
1) Rs. 50.50

2) Rs. 51.25
3) Rs. 51.50

4) Rs. 50.05
Correct Answer: Rs. 51.25
Candidate Answer: Rs. 51.25

Question 71.
If rsinf = 3, and rcos @ = 1,then values of r and 8 are: (0°< 8 < 90°)

I rsinB=v3 s rcosO=1, 7 r 3k O = 7= F= EM?(0<0<90)

Options:
1) r=1, 6=30°

2) r=14, 8=30°
3)

r=y3, B=30°

4) r=2, 6=60°
Correct Answer: r=2, 6=60°
Candidate Answer: r=2, 6=60°



Question 72.Study the bar diagram carefully and answer the following questions. Export (in Billion Rupees) of gems and jewellry in the year 1991-1992 is given.

IR SISIATA T CARTYEH eI Hiforv AR FAfaf@d weatt & ey RfAw | T 31T 3meqyoit &7 1991-1992 3 e (v faforget 1) feam sm g1

usa [, 2
lapan [
Belgam [ 2
Hongkong I 1016
et I
Thaand [ 2.5
Switzarland [N 16
Iscacl I 16
v I 15
Geemary [ 11

5 10 15 20 45
The ratio of the sum of the exports to the bottom six countries to the total exports to all the given countries in 1991-1992 is approximately:

1991-92 # =) B¢ &2 & forw a1v i & 2t 3R Rw 1w weft =it & et Tordier & AT ot SHguet Srereqer fohctetr & 2
Options:

1) Y

2)Ys

3) s

4) %/q
Correct Answer: 1/
Candidate Answer: [ NOT ANSWERED ]

Question 73.Study the bar diagram carefully and answer the following questions. Export (in Billion Rupees) of gems and jewellry in the year 1991-1992 is given.

SR SIS T CAAYd eI T AR A=A geat & Sea fafSTe | Teof X 3meqeoit &1 1991-1992 # i (ur faferaer #) fem aram &1

uss I ;2
tapan [
Balgam I 12
Hongiong N 1o
et [ .
Thatand [N 2.5
Switzarland [N 15
Ixac! I 15
v N 15
Germarnry [l 12

3 10 15 20 23
The country to which twice the export is nearly equal to the average exports in 1991-92 is

g it &1 ¥ TS 1991-02 3 g3 F32fiey ot @efeT, 3iaret foraiiel o s & 2
Options:

1) UK

..

2) Thailand

ATZAUS

3) Israel

SoRIgel

4) UAE

. T8

Correct Answer: UAE
. T8

Candidate Answer: UAE
.08



Question 74.Study the bar diagram carefully and answer the following questions. Export (in Billion Rupees) of gems and jewellry in the year 1991-1992 is given.

IR SISIATA T CARTYEH eI Hiforv AR FAfaf@d weatt & ey RfAw | T 31T 3meqyoit &7 1991-1992 3 e (v faforget 1) feam sm g1

usa [, 2
lapan [
Belgam [ 2
Hongkong I 1016
vee I =.:
Thaand [ 2.5
Switzarland [N 16
Israe! [ 17
v I 15
Geemary [ 11

5 10 15 20 45
The ratio of the total exports to Japan, Belgium and HongKong to the export to rest of the countries in 1991-92 is nearly:

ST , AfesTret AR gl st fT aTe For i 3T 1991-92 3 A &=it A fFT 21T iy T 1egaet SHaTaver frciar § 2

Options:
1) 35:34

2) 35:69
3) 69:35

4) 35:35
Correct Answer: 35:34
Candidate Answer: [ NOT ANSWERED ]

Question 75.Study the bar diagram carefully and answer the following questions. Export (in Billion Rupees) of gems and jewellry in the year 1991-1992 is given.

AR SBITH T CAAYEH T RfoTw 3R Fe=afafle seal & 3eax RISw | Teat 317 3meqyolt &1 1991-1992 & Fafa (v fafergsr #) fear amar @)

e BN
lapan [ -
Balghm I 1
Hongong N  ic.¢
et [ .
Thatand [N 2.5
Switzarland [N 15
Ixac! I 15
v N 15
Germary [l 12

3 10 15 20 23
The export to Hongkong is approximately how many times the export to Germany?

grTE TS T T forafTe STafelt @bt fow aTe vt 3 oeTsmar ettt o & 2

Options:
1)8

2)9
3)10

4)11
Correct Answer: 10
Candidate Answer: 10

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

SCANDALIZED



Options:

1) IRRITATED

2) SCARED

3) WORRIED

4) SHOCKED

Correct Answer: SHOCKED

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

INSOLENT

Options:

1) MANNERLY

2) HAUGHTY

3) DEFIANT

4) RUDE

Correct Answer: MANNERLY

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Immense

2) Imense

3) Immiense

4) Imminse

Correct Answer: Immense

Candidate Answer: Immense

Question 79.1n the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The leader (A) / with all his followers (B) / are send to prison. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Do you know (A) / whom the (B) / next speaker is? (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He is having an attack (A) / of fever everyday (B) / for the last few days. (C) / No Error (D)
Options:

1) A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Children must be to their parents.
Options:

1) obedient

2) obeying

3) obey

4) obeyed

Correct Answer: obedient
Candidate Answer: obedient



Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Every minister is to the Parliament.
Options:

1) responsive

2) response

3) responsibility

4) responsible

Correct Answer: responsible
Candidate Answer: responsible

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

She had a talk with her friend.
Options:

1) hard to hard

2) heart to heart

3) hard to heart

4) heart to hard

Correct Answer: heart to heart

Candidate Answer: heart to hard

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Bark is worse than his bite

Options:

1) Threat is worse than the action taken

2) Temper cannot be controlled

3) Ferocious scolding hurt more than his action

4) Anger is always justified

Correct Answer: Threat is worse than the action taken
Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Throw caution to the winds

Options:

1) To be fearful

2) To warn others not to travel

3) To behave recklessly

4) To behave with care and caution
Correct Answer: To behave recklessly

Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Ill at ease

Options:

1) Unwell

2) Irritated

3) Uneasy

4) Confused

Correct Answer: Uneasy

Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An action or event that happens before another important one and forms an introduction to it.
Options:

1) Foreword

2) Predecessor

3) Prefix

4) Prelude

Correct Answer: Prelude

Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A computer printout sent out by a bank regarding debits and credits in your account.
Options:

1) Bank draft

2) Statement

3) Over-draft

4) Payee



Correct Answer: Statement
Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Refresh and revive

Options:

1) Invigorate

2) Investigate

3) Invalidate

4) Invigilate

Correct Answer: Invigorate

Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Except him, no one could answer the question.
Options:

1) Exception of him

2) Excepting him

3) Except for him

4) No improvement

Correct Answer: Except for him

Candidate Answer: No improvement

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

The common fruitfly is technically called as "drosophila"
Options:

1) called

2) known by

3) known as

4) No improvement

Correct Answer: known as

Candidate Answer: called

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Give the tickets to whomever comes first.
Options:

1) whoever

2) whichever

3) whatever

4) No improvement

Correct Answer: whoever

Candidate Answer: [ NOT ANSWERED ]

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Though very young, she has a sense of flying high.
Options:

1) imagery

2) imaginary

3) imagination

4) No improvement

Correct Answer: imagination

Candidate Answer: imagination

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The greatest thing in the style of writing or speaking, is to have a use of metaphor.
Options:

1) knowledge

2) command

3) need

4) No improvement

Correct Answer: knowledge

Candidate Answer: knowledge



Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My worries were increasing. The boy at the shop was becoming more clamorous. My sales were poor, as the railways were admitting more pedlars on the platforms.
My cash receipts were going down and my credit sales alone flourished. The wholesale merchants who supplied me with goods stopped credit to me. The boy's
method of account-keeping was so chaotic that I did not know whether I was moving forward or backward. He produced cash from the counter in a haphazard
manner, and there were immense gaps on the shelves all over the shop. The complaint by the public was that nothing one wanted was ever available. Suddenly the
railways gave me notice to quit. I pleaded with the old stationmaster and porter, but they could do nothing; the order had come from high up. The shop was given to
a new contractor.

I could not contemplate the prospect of being cut off from the railways. I grew desperate and angry. I shed tears at seeing a new man in the place where I and my
father had sat. I slapped the boy on the cheek and he cried, and his father, the porter, came down on me and said, 'this is what he gets for helping you! I'd always
told the boy- He was not your paid servant, anyway.'

Why does the speaker say that his sales were poor?

Options:

1) Because his cash receipts were going down

2) Because the boy at the shop was becoming more clamorous.

3) Because the railways were admitting more pedlars on the platform
4) Because there were no buyers

Correct Answer: Because the railways were admitting more pedlars on the platform
Candidate Answer: Because the railways were admitting more pedlars on the platform

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My worries were increasing. The boy at the shop was becoming more clamorous. My sales were poor, as the railways were admitting more pedlars on the platforms.
My cash receipts were going down and my credit sales alone flourished. The wholesale merchants who supplied me with goods stopped credit to me. The boy's
method of account-keeping was so chaotic that I did not know whether I was moving forward or backward. He produced cash from the counter in a haphazard
manner, and there were immense gaps on the shelves all over the shop. The complaint by the public was that nothing one wanted was ever available. Suddenly the
railways gave me notice to quit. I pleaded with the old stationmaster and porter, but they could do nothing; the order had come from high up. The shop was given to
a new contractor.

I could not contemplate the prospect of being cut off from the railways. I grew desperate and angry. I shed tears at seeing a new man in the place where I and my
father had sat. I slapped the boy on the cheek and he cried, and his father, the porter, came down on me and said, 'this is what he gets for helping you! I'd always
told the boy- He was not your paid servant, anyway.'

How did the boy's method of account-keeping affect the speaker?
Options:

1) His worries increased

2) He produced cash from the counter in a haphazard manner.
3) His sales were poor

4) He did not know if he was moving forward or backward

Correct Answer: He did not know if he was moving forward or backward
Candidate Answer: He did not know if he was moving forward or backward

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My worries were increasing. The boy at the shop was becoming more clamorous. My sales were poor, as the railways were admitting more pedlars on the platforms.
My cash receipts were going down and my credit sales alone flourished. The wholesale merchants who supplied me with goods stopped credit to me. The boy's
method of account-keeping was so chaotic that I did not know whether I was moving forward or backward. He produced cash from the counter in a haphazard
manner, and there were immense gaps on the shelves all over the shop. The complaint by the public was that nothing one wanted was ever available. Suddenly the
railways gave me notice to quit. I pleaded with the old stationmaster and porter, but they could do nothing; the order had come from high up. The shop was given to
a new contractor.

I could not contemplate the prospect of being cut off from the railways. I grew desperate and angry. I shed tears at seeing a new man in the place where I and my
father had sat. I slapped the boy on the cheek and he cried, and his father, the porter, came down on me and said, 'this is what he gets for helping you! I'd always
told the boy- He was not your paid servant, anyway.'

Why did the public complain?

Options:

1) Because his credit at the wholesalers' was gone

2) Because nothing one ever wanted was available

3) Because there were gaps on the shelves all over the shop

4) Because the railways gave him notice to quit

Correct Answer: Because nothing one ever wanted was available
Candidate Answer: Because nothing one ever wanted was available



Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My worries were increasing. The boy at the shop was becoming more clamorous. My sales were poor, as the railways were admitting more pedlars on the platforms.
My cash receipts were going down and my credit sales alone flourished. The wholesale merchants who supplied me with goods stopped credit to me. The boy's
method of account-keeping was so chaotic that I did not know whether I was moving forward or backward. He produced cash from the counter in a haphazard
manner, and there were immense gaps on the shelves all over the shop. The complaint by the public was that nothing one wanted was ever available. Suddenly the
railways gave me notice to quit. I pleaded with the old stationmaster and porter, but they could do nothing; the order had come from high up. The shop was given to
a new contractor.

I could not contemplate the prospect of being cut off from the railways. I grew desperate and angry. I shed tears at seeing a new man in the place where I and my
father had sat. I slapped the boy on the cheek and he cried, and his father, the porter, came down on me and said, 'this is what he gets for helping you! I'd always
told the boy- He was not your paid servant, anyway.'

Where did the order to quit come from?
Options:

1) From the old station master

2) From high up.

3) From the railway authorities

4) From the contractor

Correct Answer: From high up.
Candidate Answer: From high up.

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

My worries were increasing. The boy at the shop was becoming more clamorous. My sales were poor, as the railways were admitting more pedlars on the platforms.
My cash receipts were going down and my credit sales alone flourished. The wholesale merchants who supplied me with goods stopped credit to me. The boy's
method of account-keeping was so chaotic that I did not know whether I was moving forward or backward. He produced cash from the counter in a haphazard
manner, and there were immense gaps on the shelves all over the shop. The complaint by the public was that nothing one wanted was ever available. Suddenly the
railways gave me notice to quit. I pleaded with the old stationmaster and porter, but they could do nothing; the order had come from high up. The shop was given to
a new contractor.

I could not contemplate the prospect of being cut off from the railways. I grew desperate and angry. I shed tears at seeing a new man in the place where I and my
father had sat. I slapped the boy on the cheek and he cried, and his father, the porter, came down on me and said, 'this is what he gets for helping you! I'd always
told the boy- He was not your paid servant, anyway.'

Why did the speaker shed tears?

Options:

1) Because he saw a new person, where he and his father had sat

2) Because he was cut off from the railways.

3) Because he grew desperate and angry.

4) Because he slapped the boy on the cheek.

Correct Answer: Because he saw a new person, where he and his father had sat

Candidate Answer: Because he saw a new person, where he and his father had sat



